Efficiency vs dr

efficiency vs AR

Ratio

0.5p—
0.45F -+
0.4
0.35
0.3
0.25
0.15
0.1 -
0.0ff--<|f
10F
| = DQusteps T et
o —— DQMstep3_TT_defaultNEWT3_

107

0.8f-*+ -
il II Il lw

oo {11t N
107

1072 1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.02
00.018F
E E
@.016_—
D.014F
> C
9D.012F
o E
o .
£ 0.0
(] F
0.008
0.006F
0.004F
0.002F

Ratio

Vs

[y
TTTT] T

0.95

107

1072 107
AR(TP, jet)

Efficiency vs pu

Ratio

0.2

.........................................

..........................................

[y

[Eny
o

80
Pileup



	Contents
	Page 1


